Yo
I

i

Mmoo F E

THMOEEREZE (WRMRER) FE (-7.5m) (KR) TH

PRI Rl S

b3 % FEEE

| B #BEEXE
=1 B BEREE
BEoMs IFE
HEZES 18-15-23-004



BEANRE SFI5E A0 R RK) S A (-7.5m)X B)TE

4 [ IR - WAKTiE By B = B {f & % =
EHEISE 83, 551, 069
[=EB (-7.5m) (HE)] 83, 551, 069
BEYHEEL 46,218, 288
FTRIBE 1,370, 655
JL—FUIERE 892, 500
1 9L—F U IiEHE 16. 00 54,922 878, 752
"
2 29 5y THER T P10km 1.00 13,748 13,748
=
RAREERE R E 79, 590
3 FiREiERE Bh4E250KNEY 2.00 39,795 79, 590
=
AR CS 141, 826
4 M EE 300H x 1, 800L 4.00 34,045 136, 180
=
5 BHREH E R L& AT ~ NIERfEE 1.00 5, 646 5, 646
=&
BhRGA AL 5> 14,375
6 BAfE# AL 5 1.00 14,375 14, 375
=
R E 209, 464
7 EHEERR U BT t=6. 6¢cm (As) . 30cm (Co) 34.00 4,002 136, 068
m
8 PRI 7 FEEmEE t=6. 6cm, t=10cm 191.00 176.4 33,692
m2




BERNRE S5 ES0 R R) R BT 5mE BT E
£ b R - ARk B 2 i & # i

9 FRI7IL FRER 7 T &AT ~ NERfE R 14.00 2,836 39, 704
m3

T AT 7IL LS 32,900

10 7RI 7))L b3y 14. 00 2,350 32,900
m3

EETHE 1,137,572

FFRMILHEN (EHX) 182, 280

1 XEMIMAHN (EHK) 28.00 6,510 182, 280
m

E&ars ) — MEE 15, 463

12 E&ar o) — MEE t=10cm 28.00 176. 4 4,939
m2

13 vy ) — FRER M T & RT ~ AR MR RS 3.00 3,508 10,524
m3

avyy)—rELy 6, 300

14 av91)— &Ly | Y—F 3.00 2,100 6, 300
m3

avy ) — FREREE 213,772

15 V9 ) — FMEERBE t=30cm 165. 00 696. 9 114,988
m2

16 a>9 1) — FRER M T & FT ~ AR MR RS 49. 00 2,016 98, 784
m3

avy ) — ks 112, 700

17 a9 1) — 30y HBpary)—+k 49. 00 2,300 112, 700
m3

HEMHE

, 872




BERNRE SHISEEREEB R R) S E (-7 5m) (BB T E
% L IR - WAKTiE B = L] oo ) i

18 BREEMEE 47.00 252.6 11,872
m3

HER=E 68, 706

19 #BHE 198. 00 347 68, 706
m3

hEMEE 6,567

20 hEMBE 26. 00 252.6 6,567
m3

TRYEEN 253,112

21 TREER T BT ~ MIEFEER 116. 00 2,182 253,112
m3

HELS 266, 800

22 RN 116. 00 2,300 266, 800
m3

AAEIHEE 43,710, 061

Hi7L 3,126,784

23 HIFL (1) ¢ 160 112. 00 7,414 830, 368
A

24 EIFL(2) $160 sKep 48.00 47,842 2,296, 416
A

RCERIEE - RE 176, 144

25 RCEREIMT t=30cm 46. 00 2,912 133, 952
m

26 RCERIGZE - IRE 4.5t 8.00 5,274 42,192
&

A v ——4I 23,983, 762




BEANRE SFI5E A0 R RK) S A (-7.5m)X B)TE

£ [ R - AR Bify #H = B @ £ B S

21 a5 y—rEIRM ®50 [EL 13.00 15, 892 206, 596
m

28 a9 y—REIFLQ) $50 sk 4.00 136, 650 546, 600
m

29 T4 ¥—y—4r (1) $hE BEL 55. 00 126,116 6,936, 380
m2

30 TA ¥—yv—4R(2) $RE  Kep 11.00 361, 456 3,976,016
m2

31 94—y -t @3) KFE BEE 20. 00 123, 488 2, 469, 760
m2

32 T4 ¥—y—4R 4) KFE  Kep 26. 00 378,785 9, 848, 410
m2

a7HEIR 16, 423, 371

33 a7 HIF () ®200 =L 20. 00 65, 128 1,302, 560
m

34 2 7HIFL(2) $200 skep 17.00 177, 569 3,018,673
m

3Bbav/y—rIJOyYER-RE(N) 4.5tEEZT.5tUT 8.00 10, 423 83, 384
&

36 A/ U—rITOYYER - RE(2) 12.5t%#B222. 0tUT 32.00 14, 628 468, 096
&

37 avHyy—rJ0yYER - BF(0) 45tEEZT.5tUT 42.00 57,112 2,398, 704
&

38 o/ U—rTOYYER - B (2) T.5tEEX12.5tLLTF 14.00 105, 437 1,476,118
&

39 avH/Y—rIT0yYER - B Q) 22.0tF#EZ31.0tUT 84. 00 91,379 7,675, 836
&

AT 9, 560, 452

HEIJovs T 1, 364, 804

EE IOy JEA 663, 880




BEANRE SFI5E A0 R RK) S A (-7.5m)X B)TE

£ g R - KT BfI 8 2 B M ki £ wmE
40 BEXCHKRI By 78R - 1B A1) NBFZ121. 0t/{&. NBFZ! (fxAn4ER{+F)20. 3t/{& 28.00 14,628 409, 584
1@
41 BEXCHKRI By 78R - 1B Q) NBZ420. 4t/{& 14.00 18, 164 254, 296
1@
TLF* v R FhREE 634, 788
42 S&ARITHASL SD345 D13 47900 193 92, 447
kg
43 BEBHHHE ®13 L=780mm 56. 00 385 21,560
;N
44 RBEXFRHELL 13 L=780mm 45.00 89 4,005
kg
45§ SR P4 3T 48 44 79. 00 4,268 337,172
m2
46 oY) — MTE 24-12-20BB 9.00 19, 956 179, 604
m3
TLF* v R FhER - B 66, 136
47 Tl F v R FHEHR - 1B 14.00 4,724 66, 136
1@
FAEIHY—F 6,599, 594
RAUVBLES— MG 391,792
48 mA VLS — FEE 188. 00 2,084 391, 792
m2
x&k 801,070
49 ERRZREE [-380x 100 13x20 4.00 134, 387 537, 548
&R
50 ERHXRMHE 1.00 263,522 263, 522
=
F53:71 2,085, 464




BERRE SHSERERRBGD RIR)RE (T 5m)(H R TH
% R B - IRk B % B fill * & ]
51 #&Fin THAL (1) TIARFHAERA SD345 D13 1, 356. 00 289 391, 884
kg
52 gk T (2) TARF HAESkH SD345 D16 2,992, 00 282 843, 744
kg
53 #A7I0 THAIL (3) IARFHAERE SD345 D19 3,068. 00 277 849, 836
kg
L 492,316
54 SHEIEI AR I HA S Kep 22.00 22,378 492,316
m2
AVIY—k 2,828, 952
55 KpFRHEEHEI LY 1) — FTER 24-50-20BB 63. 00 44,904 2,828, 952
m3
Fmarvos—+ 1,596, 054
avyoy—+r 1,596, 054
56 a5 — T 18-8-40BB 39.00 19, 653 766, 467
m3
57 Ktha vy 1J— MTH 30-15-4088 33.00 25,139 829, 587
m3
&I 18, 555, 410
& sY—+I 3,751,318
XR 156, 240
58 XIRHALHN (EHR) 24. 00 6,510 156, 240
m
B 1,902, 264
59 S BTN (EHX) 201.00 9, 464 1,902, 264




BEANRE SFI5E A0 R RK) S A (-7.5m)X B)TE

£ g R - KT BfI 8 2 B M ki £ wmE

[EEHEED 55, 506

60 fiifs B th BEEMHEER 22.00 2,523 55, 506
m2

E33:0] 421,029

61 $kFRANITHASL (1) SD345 D13 669. 00 201 134, 469
kg

62 $kERANITHASL (2) SD345 D16 1, 440. 00 199 286, 560
kg

avyy—+ 1,216,279

63 avY1)— MiTER 24-12-20BB 61.00 19,939 1,216, 279
m3

Jo59 U RF7UhA—T 14, 804, 092

TI59V R7Uh—HEE 4,526,430

64 AT EARHRS (EH) 95.00 9,140 868, 300
m2

65 fiifs B th BEEMHMEER 15. 00 2,523 37,845
m2

66 kFrNNTHASL (1) SD345 D13 3, 256. 00 198 644, 688
kg

67 $kERANITHASL (2) SD345 D16 456. 00 195 88, 920
kg

68 ik L 37.00 1,239 45,843
m2

69 O>Y1)— FiTER 24-12-20BB 131.00 19, 291 2,527,121
m3

70 BIFL (N FUL) $19x130L 224.00 550 123, 200
L

N 9300 7o h—EBEHHE 1.00 190, 513 190, 513
=




BERNRE SHISEEREEB R R) S E (-7 5m) (BB T E
% L IR - WAKTiE B = i ) i
EEEPZDEL 236, 858
72 MBB AT HEN (EHK) 15.00 9,140 137,100
m2
13 fEE BEEHMEER 1.00 2,523 2,523
m2
IE=PrUEIS 24-12-20BB 5.00 19, 447 97, 235
m3
T Uoh—IMHE 2, 760, 000
B F7Uoh—MHE F40TA L=36. 08m 1.00 2, 760, 000 2, 760, 000
=
kR 5,391, 080
76 &lFL (1) ¢ 135mm(BpEL) HIFLZEL=30 83.00 11, 550 958, 650
m
VI TERO)) o 135m(EREY L) HIALEEL=Z30 157. 00 23,430 3,678,510
m
78 #IFL(3) ¢ 135mm (#5) BIFLERLZ30 38.00 19, 840 753, 920
m
TUh-SA#A AN T - #ASL - R A - BR5R - TE 75 - BEED 259, 520
AER (FUh-)
79 7Uh-SAMIN T -#E5I-HEA BRIR-EE- 8.00 32, 440 259, 520
BEERALIE (FUh-) *
T35 FEA 680, 940
80 V5 MiEA 24N/mm2, W/C=50% 13.00 52,380 680, 940
m3
VDR 949, 264
81 oy — hEKRE 790x 790 x 100 W=156kg 8.00 9, 658 77, 264
&l
82 aVvH)—FEMHE KBS RAE & R ) - bl 1.00 872, 000 872, 000




BEARE SHSFEEEEEGWRBR)FE-TSmE RIS
4 [} R - KT iE B = il * H i

WMET 1,236,109

FRAI7IL MGET 1,236, 109

HERL 138, 709

83 HRL 155. 00 894.9 138, 709
m3

EES 72,334

84 TIERRHE BAEH799430 RC-40 t=15cm 118. 00 613 72,334
m2

N=F=3" 87,084

85 LIERRAE BIERARERA M-40 t=15cm 118. 00 738 87,084
m2

g 637,908

86 S La—F PK-3 118. 00 117 13, 806
m2

87 EJE BAHAEASEESY (20) t=15cm 118.00 5,289 624,102
m2

=B 300,074

88 AvHa—+ PK-4 118. 00 36 4,248
m2

89 %= BEZHEASESY (20) t=bcm 118. 00 2,507 295, 826
m2

TR 7,980, 810

TR 7,980, 810

fRiRET 958, 766




BERRE

RHSFEEEEBG RR)FE-T5mEHR)TE

% g g - BAKTE B 2 il & B IS
90 ZE&HEMT FH 4 350KNE! 2.00 25,515 51,030
#
91 fRARERAEERAT A #E 350KNEY 2.00 451,185 902, 370
#
92 fRiREHAEERE A #E 350KNEY 2.00 2,683 5, 366
m2
Fh%#t 5, 735, 856
93 IEARRERST 3.00 18,727 56, 181
#
94 BhfgA ER{T 3.00 1,893, 225 5,679,675
#
Hit - BE2YI 1,286,188
95 EHFERfH (1) L=7. 74m, L=4.00m 16.00 47,919 766, 704
m
96 E.FH{T(2) L=2. 00m 4.00 47,2817 189, 148
m
97 BEWMEt 24.00 13,764 330, 336
m
HEREE FEL) 3,175, 252
HEREE 3,175, 252
HBEREE 3,175, 252
EiE 51,520
R E% M E M 51,520
98 B A L IR E M ' 1.00 51,520 51,520
=
BEBXRHLERERE 2,235, 450

10




BEANRE SFI5E A0 R RK) S A (-7.5m)X B)TE

% R R - RARSTiE BfL % 8 B % i) m o=

KEF AL 2,235, 450

99 FEMILIZRE 40. 00 5,928 237,120
m

100 5&BsLLIREE 40. 00 5,512 220, 480
m

101 FEIEEER 1.00 1,392,030 1,392,030
=

102 ;5&ILERTEE 1.00 385, 820 385, 820
=

| 888, 282

REXE 888, 282

103 R&EHRM 1.00 888, 282 888, 282
=

11




RHSFEEEEBG RR)FE-T5mEHR)TE

% g R - KSR Bifr 2 il & B 18
EEIEE 83, 551, 069
MEIEE 9,383,015 + 22,211,246 31,594, 261
HERERE GDH 3,175,252 + 5,627,595 + 580, 168 9,383,015
HBRBE (FEL) 3,175, 252
HBERER (R) 85,786,519 x 6.56% ((4.93% x1.00 +1.50% x 1.02) 5,627, 595
BSRENER 85,318,834 x 0.68% 580, 168
RisEEER 92,934,084 x 23.90% ((21.89% +1.31%) x 1.03) 22,211, 246
TER 83,551,069 + 31,594, 261 115, 145, 330
—REEES 115,145,330 x 16.79% (16.79% x 1.00) — 6,688 19,326, 212
LR E 115,145,330 x 0.04% 46, 058
RISy 7T 117, 600
T &l 115,145,330 + 19,326,212 + 46,058 — 117, 600 134, 400, 000
HETR SR L 134,400,000 x 10.00% 13, 440, 000
FAIEH 134,400,000 + 13, 440, 000 147, 840, 000




Rifiz -/ \v7r—o

DHSFEREEBRWRMR)ERECCTSmMBER)ITE

&5 1
W JL—FrorERE 1MEY (480
2 b g - BIRTE By = B O ® # " =
SOTL—29L—r [hEEBES J8E]  16tH
B 1.00 39, 500. 00 39, 500
HEER
A 1.00 26, 150. 00 26, 150
BET
A 1.00 217,720.00 217,720
HIRIEXS
A 2.00 21, 740. 00 43, 480
LTEEXE
A 2.00 18, 690. 00 37, 380
AR EEH
= 1.00 35, 000. 00 35, 000
MR 2E0%
% 5.00 209, 230. 00 10, 461
& B 1EZHED : 4. 0081 54,922. 00 219, 691
5.2
B RO Ty THHER  HA10km 1LY
2 b g - BIRTE By = B O ® # " =
BEYBEHEESR
= 1.00 9, 548. 00 9, 548
HEIL - #EAAHER
= 1.00 4, 200. 00 4,200
& Hi 1E%HeH - 1.00K 13, 748. 00 13,748
53
£ F5  RAERAEIE  HB4E250KNEY 1HEY (2F)
2 b g - BIRTE By = B Ol ® # " =
RS 1+ A 51 73150kN~ 1000kN=R ;i
= 2.00 39, 795. 00 79, 590
& Hi 1E%HEDN : 2. 00K 39, 795. 00 79, 590




Rifiz -/ \v7r—o

DHSFEREEBRWRMR)ERECCTSmMBER)ITE

Hz5 .4
L : BHfEA A 300Hx 1, 800L 1BEY (6H)
£ b g - BIRTE BAf = it ® # " =
TRk E H=250mmLA L500mmKF o L—ik=
H 5.00 26, 145. 00 130, 725
STFL—r9L—r A ARER) ChEfES IR 16tH
B 1.00 39, 500. 00 39, 500 8H
& Hi 1E%HEN : 5. 00& 34, 045. 00 170, 225
F5 .5
ZF5 : BIREAERR T AT~ QB B
£ b g - BIRTE BAf = it ® # " =
BEYBEHEER
= 1.00 3,921.00 3,921
BREL - EAHER
= 1.00 1,725.00 1,725
& Hi 1E%HeH - 1.00K 5, 646. 00 5, 646
5 :6
¥ B LS 1LY
£ b g - BIRTE BAf = it ® # " =
nne Fhf%#f
t 1.15 12, 500. 00 14, 375
& B 1E%HeH - 1.00K 14, 375. 00 14, 375
&5 .1
LW SRR t=6. 6cm (As) . 30cm (Co) Tmy
£ b g - BIRTE BAf = it ® # " =
D t=6. 6¢m (As) . 30cm (Co)
m 1.000 4,002 4,002
& Hi E%8EH : 1.00m 4,002 4,002




Rifiz -/ \v7r—o

SHSEEREZEG RIR)FER-T5m(BZB)IE

&5 :8
£ TR I 7I)L MElZEME  t=6. 6cm. t=10cm Tm2%Y
2 b g - BIRTE By = B ® % # " =
7R D7)l RS t=6. 6cm, t=10cm
m2 1.000 176. 4 176. 4
& Hi YEEREN :1.00m 2 176. 4 176. 4
&5 :9
B TRI7IL REGER  TEIT BT~ LR Im3%Y
2 b g - BIRTE By = B ® % # " =
7 A7 I FRRER 1 T & Fr ~ IR
m3 1.00 2,836 2,836
& Hi 1E%HEH : 1.00m 3 2,836 2, 836
- 10
B TRAIT7IL RS Tm3HyY
2 b g - BIRTE By = B ® % # " =
N TAI77IL L&
m3 1.000 2,350.00 2,350
& B 1E%HEH : 1.00m 3 2,350.00 2, 350
&5 11
& ZEMELHEN (EHX) 100m Y
2 b g - BIRTE By = B ® # " =
X REMEN EAR) AVEZ T
m 100. 00 6,510. 00 651, 000
& Hi 1EZ%HEH : 100.00m 6,510. 00 651, 000




Rifiz -/ \v7r—o

DHSFEREEBRWRMR)ERECCTSmMBER)ITE

&5 .12
&% EEa o) — FEE  t=10cm Tm2%y
2 b g - BIRTE By o = B ® % W = " =
Lo ) — EE t=10cm
m2 1.000 176. 4 176. 4
& Hi 1E%HEH : 1.00m 2 176. 4 176. 4
&5 .13
£ OV ) — FEGER TEIERT~ LR Tm3HyY
2 b g - BIRTE By H = B ® % W E " =
a9 ) — FERERK 1 T & Fr ~ IR
m3 1.00 3, 508 3, 508
& Hi 1E%HEH : 1.00m 3 3, 508 3,508
= :14
&Moo —brEASy EEHaUHVU—K Tm3HyY
2 b g - BIRTE By H = B ® % W E " =
wnorE avyy— %
m3 1.000 2,100. 00 2,100
& B 1E%HEH : 1.00m 3 2,100. 00 2,100
&5 .15
£ 2V ) — FMEZEREE  t=30cm Tm2%Y
2 b g - BIRTE By #H = B ® W = " =
a9 ) — MEEREE t=30cm
m2 1.000 696. 9 696. 9
& Hi 1E%HEH : 1.00m 2 696. 9 696.9




Rifiz -/ \v7r—o

DHSFEREEBRWRMR)ERECCTSmMBER)ITE

&5 .16
£ AV ) — FEGER TEIERT~LEER Tm3HyY
2 b g - BIRTE BT o = B O ® # " =
a9 ) — FERERK 1 T & Fr ~ IR RS
m3 1.00 2,016 2,016
& Hi 1E%HEH : 1.00m 3 2,016 2,016
517
&Moo — b0 BBy U—hk Tm3HyY
2 b g - BIRTE BT H = B O ® # " =
nng HHarv—+
m3 1.000 2,300. 00 2,300
& B 1E%HEH : 1.00m 3 2,300. 00 2,300
&= .18
£F5 . BRBEMEE Tm3HyY
2 b g - BIRTE BT H = B O ® # " =
BRI E
m3 1.000 252.6 252.6
& Hi 1E%HEH : 1.00m 3 252.6 252.6
&5 19
&% HEEE Tm3HyY
2 b g - BIRTE BT #H = B Ol ® # " =
HERE
m3 1.000 347 3417
& Hi 1E%HEH : 1.00m 3 347 3417




Rifiz -/ \v7r—o

DHSFEREEBRWRMR)ERECCTSmMBER)ITE

E5:2
£ PEMEE Tm3%Y
% b I - BIKTE BAL H = B O ® % 1 " %
REEMEE
m3 1.000 252.6 252.6
& &t {E%BEHN - 1.00m 3 252. 6 252.6
&5 .21
£ TREER MI&ERm~0NERS Tm3%Y
% Eu I - BIKTE B4L H = B O ® % 1 " %
TREER e T & AT~ IR R E%
m3 1.00 2,182 2,182
& &t {EZ%BEHN - 1.00m 3 2,182 2,182
5 :22
£ HAELS Tm3%Y
% Eu I - BIKTE B4L H = B O ® % 1 " %
wnorE ¥R
m3 1.000 2, 300. 00 2,300
& B {EZ%BEHN - 1.00m 3 2, 300. 00 2,300
&5 .23
£ HIFL()  $160 1TH.3Y
% Eu I - BIKTiE B4L H = B O ® % 1 " %
#llFL (1) ¢ 160
fl 1.000 1,414 1,414
& &t YEZHBEH : 1. 007 7,414 7,414




Rifiz -/ \v7r—o

DHSFEREEBRWRMR)ERECCTSmMBER)ITE

E5:24
%5 HIFL(2) ¢160 sKep 1TH.3Y
2 b g - BIRTE By = il ® # " =
HiIlFL (2)
. 1.00 47,842.00 47,842
& Hi 1YE%HEH - 1. 007, 47,842.00 47,842
&5 :25
& : RChRTIERT t=30cm Tm Y
2 b g - BIRTE By = il ® # " =
RCAR £1 Bt t=30cm
m 1.000 2,912 2,912
= it YEZEREDN - 1.00m 2,912 2,912
&5 :26
£ %5 : RIS - IRE 4.5t 1B%Y (844&)
2 b g - BIRTE By = il ® # " =
ST7TL—r9L—2 HEHEARRER) GhE i I8 25t/
B 1.00 43, 300. 00 43, 300 8H
ST7TL—r9L—r (HEHEARRER) GhE i I8 25t R
B 1.00 43, 300. 00 43, 300 8H
(AR 11t3&
B 5.00 45, 982. 00 229,910 4. 70H / 8H
U
A 2.00 24, 780. 00 49, 560
LEEXS
A 4.00 18, 690. 00 74, 760
MR 2E0%
% 0.50 440, 830. 00 2,204
& B 1YEZRES - 84. 001& 5,274.00 443,034




Rifiz -/ \v7r—o

DHSFEREEBRWRMR)ERECCTSmMBER)ITE

&5 :21
&Moo U—FHIFL() 650 REL 5.53m% Y
2 b g - BIRTE By = B O ® # " =
HIRIEXS
A 1.000 21, 740. 00 21,740
ZEFLHE EEn /NI
B 1.000 3,090. 00 3,090
FEW B VIvIvY VERE)  5kVA
B 1.000 1, 040. 00 1,040
Ny (ToRy I R)
B 1.000 2,700.00 2,700
2 4YEUh By @QuyY-HEIFLRD IFUE22M4 VF
ZN 3.150 14,100. 00 44, 415
Fa—7 FURA VT
ZN 0.670 2,600. 00 1,742
TETR— FEUE2A4 U F
ZN 0. 560 2,740.00 1,534
Foh— £EIER
ZN 11. 200 100. 00 1,120
HEIEZE()
£y b 1.000 5,342.00 5,342
HIy> LF¥a15— RE2UK
L 19. 000 152.00 2,888
AHIY2DONY (TUoRyIR) ) LF¥a15— RE2UK
L 12. 000 152.00 1,824
FAK KB K
m3 0.673 672.00 452
& B YE%HESN : 5.53m 15, 892. 00 87, 887




Rifiz -/ \v7r—o

DHSFEREEBRWRMR)ERECCTSmMBER)ITE

&5 :28
M2 U—FHIFL(Q)  ¢50 JKkep Tm%HyY
£ b g - BIRTE BT = it ® # i
HEER
A 0. 400 26, 150. 00 10, 460
BKE
A 0. 400 41, 690. 00 16, 676
BKERKE
A 0. 400 217,090. 00 10, 836
BKESE
A 0. 400 217, 830.00 11,132
ZEFLHE SHER
= 0. 400 18, 300. 00 7,320
HEEFEH 45kVA
= 0. 400 6, 200. 00 2,480
BEaVITLyH— it 0. 7MPa
= 0. 400 7, 800. 00 3,120
BkarvILyy— tHZERE175L/mink &£ 5110. 08MPa
= 0. 400 6, 800. 00 2,720
ar kA—)LRRIL ESERERR
= 0. 400 4, 200. 00 1,680
Lo—nn—4249 RNAEE32L& = E #710. 08MPa
= 0. 400 2,000. 00 800
T7—hihk—X
£y b 0. 800 2, 500. 00 2,000
KepEEEER I
£y b 0. 800 4,000. 00 3,200
EIKEEH
#2 0. 800 22,000. 00 17, 600
I7—I8 BIFL KU IL(ZT7—)
£y b 0. 400 8, 000. 00 3,200
PEW hAE
= 0. 400 2, 460. 00 984
a=w4 4t% 2.9tmY
B 0. 400 11, 600. 00 4,640
Ew bk FEUE6A U F
ZN 0. 750 35, 900. 00 26, 925
Fa—7J UE6S VT
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